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1. %955 13 1 0 1 15
(5.4) (04 (0.0) (04) (6.3)

2.8 EnziEEIES 35 12 2 0 49
(14.6) (5.0) (0.8) (0.0) (20.5)

3.ELLMmEVnRIEES B 79 37 9 0 125
(33.1) (155) (3.8) (0.0) (52.3)

4. % 5 B 32 15 3 0 50
(13.4)  (63) (1.3) (0.0) (20.9)

&t 159 65 14 1 239

(66.5) (27.2)  (5.9)  (0.4) (100.0)

B (&h%) 27T

i A D FE=1.48 (x=2.88, y=1.40), p<0.05 CeH: D H 5 t EIZ L D), r=0.073 KGO & DR EDHA

| x>y 77— Z84.1%, x<y /7 — 2A1.7%, p<0.05 (% S E), | FFEMEOHE
#2 BRIZE-oTRGRZ & *3 BHIKE-oTKRYERZ &

B SD N (%)

EVWHIN 2455 2 & 2.88  0.81 x>y 201 (84.1)

FIEOEHE - Bila155 2 & 140 062 x=y 34 (13.6)

WD F=1.48, p<0.05 (RHED B D ¢ MEIZ X D), x <y 4 (1.7)

r=0.073, N=239, ait 239 (100.0)

x:EWHIN ARG Z b,
y: FIEROEHE - Bl 1552 &,
p<0.05 (FF 5 HE).
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